Paper First : 2014 Annual

Inorganic Chemistry
UNIT - 1 ]
(o) o ST (/= 2) & AT R - a2zSubjects.com
(i) 5 3o (i) 3 3o (iii) 6 gerg (iv) 10 goreta
An orbital (/= 2) may occupy : (i) 5 electrons (ii) 3 electrons
(i) 6 electrons (iv) 10 electrons
(@) Premforfaa & & Rl & w s feoafordt R« (7) araelt 1 et
(i) oifwars: Fram (i) goe w1 agean Fram (iv) Sies oo
Write short notes on any two of the following : (i) Pauli's

exclusion principle (ii} Aufbau's rule (i} Hund's law of

maximum multiplicity (iv) Zeeman effect

(@) AgEre ¥ p? R ¥ R <Y saen et % R fRew | Write
all four quantum numbers for p® configuration of Nitrogen
atom.

OR a2zSubjects.com

(a1) o] 3 Pper gorifers o & et fnte @1 o =geraw 21 7
Which electronic configuration of an atom will have lowest
ionization potential ?

(i) 182 : (ii) 18 2% 2 p8
(liy1s22s*2pt3 ¢! (iv) 1s22s? 2p83s?

(%) Prefeian o feofor fofee : (i) smamm R (ji) ooy B (i)
FolaE g (iv) fergasroTarRa
Write notes on the following : (i) lonization potential (i) Atomic
radii (iii} Electron affinity (iv) Electronegativity

(=) FreferRaa & @ vl <1 =t awmmy
(i) T2Ie & e Rt sifedier & aftes a2 | w17
(if) IR =B} Serie ST Sl & A R | ¥ )

(iii) Siieaw o, Hiftrm 3 §=ifem 3 S s dar 2

Explain any two of the following :

(i) lonization potential of nitrogen is higher than oxygen. Why?

(ii) Eletron affinity of flucrine is less than chlorine. Why ?

(i) Sodium atom is larger in size than lithium and magnesium.
UNIT - 2

(1) Frafofiaa & & e orp ot anssfy Bl R 2 7 Wihich of
the following molecules will have trigonal bipyramidal
geometry ?

(i) BF, (i) PCi, (iii) SF, (iv) IF,

(@) CH,, NH, & H,0 dFl % %=y o] sp® @ia sreesn # 2 2,
ferg 3 omeha o o saifafa § s g 2 | Freon wae fifa |
The central atom of CH, , NH, and H,O are sp® hybridized,
but the geometry and bond angle of these molecules are
different. Explain the reason. a2zSubjects.com

(&) N, ST0T T S0 FozTohs P SIIg, T 37784 sVl S0 F ehid] 701 ) SRS
Draw molecular orbital diagram of N, molecule and explain

the bond order and magnetic property.
OR

(=1) Frfofaa & & e g el spa 27

Which of the following have zero dipole moment ?

(i) NH, MHO  (i)SO,  (iv)BCI,

(@) HHOTHI R ) 56 THET & WK | BCL,, BeCl, @ NH, i g
AR | What is hybridization ? On the basis of
this hypothesis, explain the structure of BCI,, BeCl, and NH,.

(=) wror e fifvr (FE d9)

(i) PCI,=RaT @ NCI,7& | (ii) O, ¥1v] I &1 & |

([ijC=CoTaFTHMC~CaurC = C T Hal A s & |

(iv) H,O 31 v 1 7 NH, & 0 S8 FH & |

Give the reason : (i) PCl, is formed, not NCI..

(i)} O, molecule is paramagnetic.

(iii) The bond angle of H,0 is less than bond angle of NH,.
UNIT - 3

() T T R a2zSubjects.com
(i) H,O s g smiw H,S = |
(il) =l denidia £ gomn # forarte S wmar afs 26 2 |
(iii) = ot | e Bt 2 |
Give reasons : (i) H,O is liquid but H,S gas.

(if) Density of glycerol is higher than ethyl alcohol.
(iii) lce is light weight than water.

() A% ol PRl FEd & 7 SIeh Sal F H4 oftfoa fe s @ 0
(et wii SR | What is lattice energy ? How is
lattice energy determined ? (Give formula only).

(3) arTiers 99 % Q0T Hiew A THHEY, |
Explain the band model of metallic bond.
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(1) T - BIS TGk T I Aled THART |
Explain Born-Haber cycle giving suitable example.
(=) Frfoiaa w femivwl faa - (i) s (i) s e (i) e
srarE w Faw (iv) s 3
Write notes on the following : (i) Semiconductors (ii) Fajan's
rule (iii) Radius ratio rule (iv) Lattice defects
UNIT - 4
(a1) Fmferfira ¥ o saee fifere (5 &)
(i) & argi %6t &1 g9 e # A FT R A |
(il) HR Qe 9= I i T T T 2 |
(iii) &R g, sfterar rafe A a2 |
(iv) & aTgd; aehfar A v F A2 andt St 2
Explain the reason of the following (any three) :
(i) Alkali metals give blue colour in liquid ammonia
(ii) Alkali metals are strong reducing agents.
(iii) Alkali metals form mostly ionic compounds.
(iv) Alkali metals do not occur in free state in nature.
@) Fr=fataa 1 $ro afEa TwaET -
(i) e il & gud S fnTa agd S Ed B |
(i) werfer 3 b A oo i |
(i) H, 3o aran s &, feg He, 781 |
Explain the following with giving reason :
(i) First ionization potential of noble gases are very high.
(i) Noble gases are monoatomic in nature.
(i) H, molecule exist but not He,.
OR
(a7) ol ey & T o Eweid & 7 SEmeer sHeEd | What do you
mean by diagonal relationship ? Explain with suitable example.
(@) XeF,wd XeOF , $i &= % anaRy |
Explain the structure of XeF, and XeOF .
UNIT - 5
(37) TR Y ST OF AT T THAEY | a2zSubjects.com
Explain the structure and bonding of diborane.
(@) Prefofas = evmmee (i) a0l el % gard e & T & ogd
g HNO, framer sl =i T s & 2
(il) FARTFS Hei 1 Sl FoAase TIa |
(iii) forcrman sumsa U= st TuEEa J T |

(iv) St <S5l it goen 7 aftr Bramsfter |
Explain the following :
(i) Before analysis of third group basic radicals, why dil HNO,
is added followed by heating the solution.
(i) Chromyl chloride test of chloride radical.
(iii) Relation between solubility product and ionic product.
(iv) Borazine is high reactive than benzene.
OR
(37 srreAr Aifwm € ) CIF, wd IF, fraemm #l aness | What
are inter-halogen compounds ? Explain the structure of CIF,
_.andIF,,

(@) Praffea 1 awsRy - (1) swemE wiE (ﬁ)alﬁl-‘ﬂﬂtﬁ (iii) =
afimsfs  Explain the following : (i) Common ion effect (i)
Interfering radicals (iii) Group reagents
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